01. Consider the riveted joint

shown in fig. the maximum
permissible value of ‘p’
(rivet diameter 20 mm) is

b. 60 mm
d. 96 mm

a. 50 mm
c.72mm
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02. Synthetic rubber used elastomeric
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bearings should have respectively,
hardness (IRHD) and ultimate
tensile elongation of

a. 65and 400 %

b. 65 and 3500 %

c. 55and 4000 %

d. 55and 350 %

A steel plate is 30 cm wide and
10 mm thick A rivet of nominal
diameter 18 mm is driven. The
net sectional area of the plate is

18.00 cm?
28.20 cm?
28.05cm?
32.42 cm?
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04. A cantilever steel beam of 3 m span carries

05.

Which one of the is the most

a uniformly distributed load of 20 kN/m
inclusive of self-weight. The beam
comprises ISLB 200 @ 198 N/m, flange 100
m x 7.3, web thickness 54 mm, |, =
1696.6 cm® , |, = 115.4 cm* bending a
shear stresses in the beam are respi
a. 530.47 n/mm? and 55.55 n/mm?

b. 3899.48 n/mm? and 82.19 n/mm?

¢. 132.62 nfmm? and 27.78 n/mm?

d. 1949.74 n/mm? and 41.10 n/mm?

d joint between structural members
ets does not coincide with the axi

onal to its radial distance from its
ach rivet should be limited to half the ri
ear force caused in e: i to eccentricity
ortional to the radial dista

07. At the location of fila:

Radius of curvature is
Curvature is infinite
Moment is infinite
Flexural stress is infinite
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08. Z —purlins may be fixed in either

orientation, A or B as shown in fig.
A B

Which one of the following statements is
correct in this regard?

a. Orientation A is structurally more
efficient than orientation B

b. Orientation B is cturaﬂ( more
efficient than o A \

Both the Ori sa
equally effic
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e weakest plane in a fillet
weld is

a. Aside parallel to the force

b. A side normal to the force

¢. The one along the throat
d. Te one normal to the throat

13.

16.

17.

Figure shown a portal frame with
loads. All members of frame have
same plastic moment of
resistance M,

w

ported beam of span
s a concentrated load
ts midspan. If the cross-
on of the beam is an I-section
the length of elastic plastic
one of the plastic hinge will be

a. L/8

b. L/4

c L/2

d. 3L/4

A continuous beam of constant M,
has three equal spans and carries
total uniformly distributed load
‘W’ on each span. The value of
collapse load for the beam will be

12m, /L
11.656 m,, /L
8.65M, /L
am, /L

ange

A channel section is placed in an
inclined position carrying vertical
loads as shown in fig.
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If the applied moment for the channel
is ‘M’ due to vertical

load, then M, is given by

a. v3M/2

b. 1/2M

¢ 1/V2M
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18. The thickness of web for
unstiffened plate girder with
clear distance d between the
flanges shall not be less than

d/200
d/8s

d/100
d/160
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19. What is the effective net width of
plate shown in fig. for carrying
tension ?
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For the beam shown in fig. the
collapse load P is given by 5 C

1 = lp 2B Q c
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16M, /L
14Mm, /L

12Mm, /L
10Mm, /L
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